| Efficiency vs Dxy |
0.5
<

5 S
I | il S S S S S
< A T T
R e e
ko) A T T
e e A0 A S A
s o Tt e
T N ——
R -
O

effi

e 1] e
L | N A S S

.9 O;IIII.IIII.IIII.IIII.IIIq II.IIII.IIII.IIII.IIII
"CE 1_— ------------------------------- o L R R L PR PP T P
©

0_9:_ .....................................................................

08 e 55-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_CKF_XiMinusNOPU_base

| Efficiency vs Dz |

—— DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epoch3

N 0.2
© : : : : :
T SRR S S S R
> : : : : :

O = : : : : :
| S A S
(&) o H H H H .
.14 proneerene I Frrereeeener ARARERRR A
o : : : : :
e
L) N T N S ——
0.08:— ......... . 3 & .......... SRR SO
0,06+t ooveeeeh T S
0.04:_ ....................... o{T O P
0_02:_ ....................... » B U P ST SO

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


